
Time: 10 Minutes Paper Science 8 Total Marks: 10

Month 1, 3rd Week, 1st Day Syllabus: Unit # 1, Solution of environmental problems

Q.No.1. Encircle the correct answer from the following choices. (166)


i. Which of the following is a solution of environmental problem?


(a) Reducing pollution  (b) Plantation 
(c) Protection of endangered species 
(d) All of these 
ii. Instead of personal cars, public transport should be used to reduce:

 
(a) Deforestation  (b) Pollution 
(c) Overpopulation  (d) Competition 
iii. Sulphur and _____ free fuel should be used in vehicles to reduce.

  
(a) Carbon      (b) Hydrogen  (c) Arsenic     (d) Lead          
iv. There are _____ strategies for the conservation of resources.

  
(a) 3R (b) 5R (c) 4R (d) 2R

v. Planting more trees can reduces the level of ______.

  
(a) Soil pollution  (b) Environmental pollution 
(c) Water pollution  (d) Air pollution 
vi. Plants are also the habitat for: 
(a) Birds  (b) Animals  (c) Insects  (d) All of these 
Q.No.2. Write short answers. (224) 
(i) What are the solutions of environmental problems?           
(ii) From which ways we can reduce pollution? 
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